AECHM(FME_S)

[ Striet ]

o= | Ao @ROIRE : BH(6), Moo
OYHAIY : She2i2] J|EAE 22| @THRIANY : SieA 2

OHIRAIY : Str2tr] HH|ALY

0= AR50

P2 202 AR BRI AISAIL 2 41 oqny | JE | sz
g A 53,720,115 50,371,915 3,348,200
=2 21,572,000
= 431,500
Al 31,616,619
7|Et 100,000
Npuleli, 22,814,575| 20,485,233 2,329,342
CHE(6)/ ot 22,694,487 20,365,145 2,329,342
Blr2] 7|81 22| 20,117,195 17,787,853 2,329,342
Sty 22| 4,703,211 4,100,166 603,045
o2t HHA 4,703,211 4,100,166 603,045
308  ARx|THAISOA 603,045 0 603,045
11 37| SOCHSHE AR 603,045 0 603,045
O OfeA| otE{2|ss ZHO[E QIZHERIAIRI(BTO) HHAS QEsprzm
Z7(603,045,0004 x 14) - 7|H(0%) = 603,045
skezE] AlMdRY 15,413,984 13,687,687 1,726,297
ste2|d 23 15,413,984 13,687,687 1,726,297
P01 UukRAH| 1,632,364 1,561,787 70,577
01  AfF2t2H| 306,364 235,787 70,577
O 2xx2|Ald 7[s2IE &2
2% (70,577,000&x14) - 714 (0%) = 70,577
P06 AH=H| 1,207,900 1,042,900 165,000
01 Y=Y 295,000 130,000 165,000
O Bgz 3ukty| 04
Fd  (165,000,0008x14) - 7|14 (0¥) = 165,000
P15 S| 4,434,720 3,800,000 634,720
00 S=H| 4,434,720 3,800,000 634,720
O BastEAEAd dEes
AA  (4,434,720,00080x14)) - 7| (380,000,0009x1074%) = 634,720
307 QIZto|d 7,174,000 6,318,000 856,000
05 RIIREE 7,174,000 6,318,000 856,000
O 33skrE|Ald 2F &2|Chgs|
A4 (6,494,000,0008Ix14)) - 7|4 (6,066,000,00080x14]) = 428,000
O 33skrE|Ald 2F 22|CilH|(2023E 2718 EE)
23 (428,000,0008 x 141) - 714 (o) = 428,000




&)

[ 3t ]
07 [ AT @ROIER : BA(), MU o ——
OHAIY : BtpaE| J|HAIE B @TIRAIY [ SIAIE BE OMRANY 1 Rpx{Els AOI] RIZIERAIYEBTO) @%  AlFH|LSCHY|
; 7| 4
=, ZOFFE, ALY, SR MIRALE, = M= O] Ah o4 off AF o 4
A=y 30,905,540 29,886,682 1,018,858
=2 21,572,000
= 431,500
Al 8,802,040
7|et 100,000
2t (6) /4ot 42 30,905,540| 29,886,682 1,018,858
=2 21,572,000
= 431,500
7|et 100,000
Ble2] 7|BA Y 22 29,353,800 28,677,300 676,500
= 21,572,000
= 431,500
Al 7,250,300
7|et 100,000
SkeAld =3 20,529,000 19,263,000 1,266,000
=2 16,874,000
Al 3,655,000
Bl42{2|4> 202 TIZEERFAIY(BTO) 12,662,000 11,396,000 1,266,000
2 11,396,000
Al 1,266,000
401 A[MH|ZERCHH| 12,662,000 11,396,000 1,266,000
2 11,396,000
Al 1,266,000
01  AldH| 12,662,000 11,396,000 1,266,000
O slexf2le 2018 QIZHRRIAII(BTO)
AA  (12,662,000,0002x14) - 7|&  (11,396,000,0008 x 1 Al) = 1,266,000
skl SHAE 5,563,000 6,670,000 1,107,000
= 4,005,000
Al 1,558,000
ICAHE| LAY SHLU2IRS 20 LAIY 2,639,000 4,601,000| 1,962,000
=2 1,798,000
Al 841,000
M01  AlGH|ZRCH| 2,639,000 4,601,000  A1,962,000
=2 1,798,000
Al 841,000
01  AldH| 2,268,000 4,230,000|  A1,962,000
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N'F

OT/AY © SfR2| TBAY &5 e 2] OMRAIY | SAZ| YAYL| SHA2IRY A0iLAY o= (B2 @ Hg)
A8
. 7| A
T2 S0LS AN CholALR] AISAIY, 2 K2 el o ar oy sz
O T@AAZ| LEH| SHZ2IR|Y 250l LALY
ZA (2,268,000,000x14]) - 7|A (4,230,000,000% x 14) = A1,962,000
2 1,962,000
SUSA oty SHAZIR|A FHIAY 1,400,000 545,000 855,000
=2 1,140,000
Al 260,000
M01T  AlMdH|LRCHE] 1,400,000 545,000 855,000
=2 1,140,000
Al 260,000
01 AldH] 1,400,000 545,000 855,000
O SYSAIT o gt| SH2ARIAY ZHAIY
A3 (1,400,000,00080x14]) - 7% (545,000,0008 x 14]) = 855,000
=2 640,000
Al 215,000
Skl ZH| 2,917,000 2,564,500 352,500
=2 693,000
= 431,500
Al 1,692,500
7|E} 100,000
Cl4A| L5 SHE 22 HURAL 1,077,000 1,039,500 37,500
2 693,000
= 346,500
Al 37,500
401 A|[DH|ZERCHH| 1,077,000 1,039,500 37,500
2 693,000
= 346,500
Al 37,500
01  AldH| 1,077,000 1,039,500 37,500
O OpAl =% ol 22 FURAH20249)
24 (1,077,000,0008x14]) - 71 (1,039,500,0002 x 14]) = 37,500
=hS 52| sk HHAY 130,000 0 130,000
M01  AlMLH|LRCHH] 130,000 0 130,000
01 AldH] 130,000 0 130,000
O SttS f5F2| sk ZHIAY
73 (130,000,0009 x 14) - 7|ZH(0g) = 130,000
Ol=A| Sots Uoh HiY HBAIRITES) 85,000 0 85,000
= 85,000
M01  AlAH|LSCHH 85,000 0 85,000
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0 I @ S FHl @MITANY 1 OiAl SSks 2o B HBAMRK(FES)

U © SiaA2| 7PN B2 o= el © gl
LRy
B oMo 24 7| 3 =
T2 2OIR2 AL TP R MIFA 2 IS o | e | B
= 85,000
01  AldH| 85,000 0 85,000
O Oi=A| B3ts i B2 ZHIARY
23 (85,000,000¥ x 14) - 71¥(0%) = 85,000
= 85,000
Oj=A| Sots Sk FHAKH(FES) 100,000 0 100,000
7|Et 100,000
K0T AldH|ZRCHH| 100,000 0 100,000
7|EL 100,000
01  AldH| 100,000 0 100,000
O OFA| Z3ts Sk FHIARY
27 (100,000,0008 x 14) - 7|4 (0%) = 100,000
7|EL 100,000
S| Aldaz| 344,800 179,800 165,000
[FSSHEAEAY AT | AHIZZ]) 168,800 3,800 165,000
105 AMERISH| 168,800 3,800 165,000
01 ARIUSE: 168,800 3,800 165,000
O £2TMS TNEZ?| 1|
H4 (55,000,0009 x 20 ) - 718 (0%) = 110,000
O £4TMS TP2%
#4 (55,000,0009 x 1CH ) - 718 (0%) = 55,000
1f&s 1,295,750 953,392 342,358
Bzagtet 1,295,750 953,392 342,358
SR il 1,241,566 899,208 342,358
302 HRI=TIEL 1,241,566 899,208 342,358
01 Z2nEzRI 1,241,566 899,208 342,358
O 20054 3l4=2AZH| BTLAIY Uiz 133,130
0 ARERHH Z3  (129,252,0008x14) - 714 (09) = 129,252
o Oz} 23 (3,878,000&x14) - 714 (0¥) = 3,878
O 2008\ Sto=2tHHH| BTLAIY Ach=z 209,228
0 ARERIH #A  (203,133,0009x14) - 7|1 (0%) = 203,133
o OJz} H4 (6,095,0002x14) - 71Y (0%) = 6,095




